
USE AND CARE GUIDE

THANK YOU

 quality products designed to enhance your home. Visit us online to see our full line of products available for your home improvement needs.
Thank you for choosing Hampton Bay!

         Item # 1004 295 984
1004 148 497

Model # GT-7108-SSS

WWW.HAMPTONBAY.COM

1-855-HD-HAMPTON

Questions, problems, missing parts? Before returning to the store,
call Hampton Bay Customer Service 

8.00 a.m. - 7.00 p.m.  EST, Monday - Friday,
9.00 a.m. - 6.00 p.m.  EST, Saturday

Fordham Fire Pit Table

WARNING: 
Improper installation, adjustment, alteration, service, or maintenance can cause injury or property damage. 
Read the installation, operating, and maintenance instructions thoroughly before installing or servicing this equipment.



Table of Contents

2

Important Safety Instructions....................................................................................................3
                              Table of Contents.......................................................................................................................2

................................................................................................................................... 9

Specification..............................................................................................................................4
 Safety Warning...........................................................................................................................5

S tructure of the Gas  F irepit .....................................................................................................11
 Installation...............................................................................................................................12

Location........................................................................................................................12
Setting Up.....................................................................................................................12

Gas Connection.............................................................................................................13

Leak Check ..................................................................................................................14
Operation    .................................................................................................................................1    4

           Lighting........................................................................................................................ 
  

    14
          Shutting Down the Gas Appliance        ............................................................................... 15
           How to Disconnect the Cylinder ....................................................................................15

Storage and Maintenance ........................................................................................................1 
       7

Troubleshooting........................................................................................................................      1 6
Cleaning and Clearing.......  ....................................................................................................... 

 
 

 
 

 
  
 

 1 6

Limited Warranty.......................................................................................................................17

Gas Cylinder Required............................................................................................................... 
  

    
  

   
 15

A ssembly
P re - Assembly.............................................................................................................................7

Loading the Propane Tank                         ............................................................................................12
31.....................................................................................................                yrettaB eht gnidaoL



 

 

Important Safety Instructions

SAVE THESE INSTRUCTIONS

1. Close supervision is necessary when this furnishing is used by or near children, or disabled persons, if applicable.
2. Use this furnishing only for its intended use as described in these instructions. Do not use attachments not recommended by

the manufacturer.

DANGER:

 For outdoor use only.

Improper installation, adjustment, alteration, service or maintenance can cause injury or property damage.  
Read the installation, operating and maintenance instructions thoroughly before installing or servicing this equipment. 

Do not store or use gasoline or other flammable liquids or vapors in the vicinity of any other appliance. 
 An LP cylinder not connected for use shall not be stored in the vicinity of this or any other appliance.        

CARBON MONOXIDE HAZARD

                             

This appliance complies with ANS Z21.97-2014/CSA 2.41-2014 outdoor decorative gas appliances. 

READ ALL INSTRUCTIONS BEFORE USE
To reduce the risk of injury to persons:

WARNING: FUELS USED IN LIQUEFIED PROPANE GAS APPLIANCES, AND THE PRODUCTS OF COMBUSTION OF SUCH FUELS, CAN EXPOSE YOU 
TO CHEMICALS INCLUDING BENZENE, WHICH IS KNOWN TO THE STATE OF CALIFORNIA TO CAUSE CANCER AND CAUSE BIRTH DEFECTS OR 
OTHER REPRODUCTIVE HARM. For more information go to: www.P65Warnings.ca.gov.

WARNING:

WARNING:

WARNING:

DANGER:

3

WARNING: Do not connect to a remote gas supply.
Surfaces of fire pit can remain extremely hot for a period after use. Allow 45 minutes to cool down before 
touching or moving the fire pit. 

FOR Y  OUR SAFETY   :

If you smell gas: 
1. Shut off gas to the appliance.
2. Extinguish any open flame.
3. If odor continues, keep away from the appliance and immediately call your gas supplier or fire department.

This appliance can produce carbon monoxide which has no odor. 

Using it in an enclosed space can result in death. 
Never use this appliance in an enclosed space such as a camper, tent, car or home. 



Product Name Fordham Fire Pit Table

Model No. GT-7108-SSS

Rated Heat Input 45,000 BTU

Fuel Propane

Gas Supply

 

20-lb LP  gas cylinder

Manifold Pressure     11 in. water column

Orifice Size (diameter)          1.93 mm

Gas Supply Pressure  250 PSI (max)

Specifications

Dimension (Lx  Wx  H)        

Weight (w/o tank)

1170 mm x 710 mm x 660 mm

NW: 35.1 kg

4

GW : 47.4 kg



5

CAUTION

CAUTION

When the appliance is connected to a f ixed-gas system, the installation must conf  orm with local codes, or in the 

absence of  local codes with the National Fuel Gas C  ode, A  NSZ  223.1/NFPA  54;  International Fuel Gas C  ode, 
Natural Gas and Propane Installation C  ode, C  SA  B149.1;  or Propane Storage and H  andling C  ode, B149.2, as 

applicable.

The LP gas supply cylinder used must be:

1. C  onstructed and marked in accordance with the U.S.D  epartment of   Transportation (D   .O   . T.) Specif ications f or

LP Gas C  ylinders, or the Standard f or C  ylinders, Spheres and Tubes f  or Transportation of  D  angerous Goods

and C  ommission, C  A  N/C  SA  -B339  as applicable.

2. Prov  ided with a listed ov  erf ill prev  ention dev  ice.

3. Prov  ided with cylinder connection dev  ice compatible with the connection f  or the appliance.

A  lways place the appliance on a f  irm and lev  el surf  ace.

Solid f uels shall not be burned in this gas appliance.

The appliance shall be used only outdoors in a well-v  entilated space and shall not be used in a building,

 garage or any other enclosed area.

When in use, keep the appliance area clear with at least 48 in. (121.9 cm) on the sides and 72 in. (182.9 cm)

on top away f rom combustible materials, gasoline and other f lammable liq  uid and v  apors.

D  o not use the appliance under combustible surf  aces. C  ertain items or materials, when stored under the 

 appliance or nearby, will be subj ected to radiant heat and could be damaged. Inspect the hose assembly 

 and burner prior to each use. If   there is ev  idence of   excessiv  e abrasion or wear, 

or if   the hose or burner is damaged, it must be replaced by an appropriate part f  rom the manuf  acturer.  
Inspect the gas connections of  the appliance prior to each use. D  o not operate the unit if  

there is a gas leak. H   av  e the appliance inspected annually by a q  ualif ied serv  ice person. 

The pressure regulator and hose assembly prov  ided with the appliance must be used. 

 
The replacement part must be the same as specif  ied by the manuf  acturer. To attach the LP gas

cylinder please ref  er to the "  Gas C  onnection"   section on page 13 and perf orm the leak check on 

page 14. 

Safety Warnings

CAUTION



 

 

 
 

 

Safety Warnings (continued  )

 

6

CAUTION

CAUTION

C  hildren and adults should be alerted to the haz  ards of  high surf ace temperature and should stay away to 

av  oid burns or prev  ent clothing f rom igniting. 

Y  oung children should be caref ully superv  ised when they are in the area of  the appliance. 

C  lothing or other f lammable materials should not be hung f  rom the appliance or placed on or near  

the appliance. 

A  ny guard or other protectiv  e dev  ice remov  ed f  or serv  icing the appliance must be replaced prior 

to operating the appliance. 

Installation and repair should be done by a q  ualif ied serv  ice person. The appliance should be inspected bef ore 

use and at least annually by a q  ualif  ied serv  ice person. M   ore f  req  uent cleaning may be req  uired as necessary. 

It is imperativ  e that the control compartment, burners, and circulating air passageways of  the appliance are 

kept clean. 

D  o not use the appliance if  any part has been under water. Immediately call a q  ualif ied technician to inspect 

the appliance and to replace any part of   the control system and any gas control which has been under water. 

LP gas supply cylinder to be used must be constructed and marked in accordance with the specif ications  

f or LP gas cylinders of  the U. S. D  epartment of  Transportation (D  O  T). See page 15. 

The cylinder system must be arranged f or v  apor withdrawal and the cylinder must include a collar to protect 

the cylinder v  alv  e. 

Use only 20 lb (9 kg) LP gas cylinders. 

D  o not burn wood or any other materials in this appliance. 

The burner must be replaced prior to the appliance being put into operation if  it is ev  ident that the burner is  
damaged. The replacement burner must be the same as the part specif  ied by manuf acturer. 

To clean the appliance, including the burner, please ref er to the "  C  leaning and C  learing"   section on page 16. 

D  o not try to cool glass beads with water soon af  ter shutting of f  the gas appliance or they will break. 

D  o not use the gas appliance in strong wind and/or heav  y rain. 



Pre-Assembly

PLANNING ASSEMBLY
It will take two people about 30 minutes to complete the assembly process.

HARDWARE INCLUDED

NOTE: Hardware not shown to actual size. 

AA BB CC

DD

7

TOOLS NEEDED

AAA

AAA Battery   (1pc)

Part Description Quantity

AA

BB

CC

DD

18

 2

20

 1

Bolt (M6x20)

Hex wrench (M6)

Washer (M6)

Bolt (M6x35)

Philips screwdriver 



Pre-Assembly (continued)

8

PACKAGE CONTENTS

Part Description Quantity

A

B

C1

C2

D

E

F

1

1

1

1

1

1

1

Table top incl. gas furnace

Tank rack

Left table leg

Side panel

Rear panel

Front access door 

Right table leg

G

Lid

1

Rocks 3.5 kgH

B

A

E

F

D

G

C1

C2

H



Assembly

 Attaching the rear panel  

9

2

IMPORTANT:  (For steps 1 through 4) 
Do not fully tighten bolts until the end of Step 4. 

 Attaching the side panel and table leg 

with M6   washers (CC) and M6  x  2  0   hex   bolts (AA) using M6   hex Attach the side panel (F) and table legs (C1 and C2  ) to the table top

Place the table top (A) upside down on a flat, smooth surface.

wrench (DD).

AA

CC

F

C1

C2
A

Attach the rear panel (G) to side panel (F) with M6   washers (CC) and M6  x  2  0   hex   bolts (AA) using M6   hex   wrench (DD).

AA

CC
G

1



Assembly (continued)

 Attaching the tank rack 

10

4 Attaching the access door

5
Turn the table upright.
Put the rocks (H  ) to the bowl. Put the lid (B) on.

 Positioning the table

B

Attach the access door (E) to table top (A) with M6   washers
(CC) and M6  x  2  0   hex   bolts (AA) using M6   hex   wrench (DD).

Attach the access door (E) to rear panel (G) with M6   washers
(CC) and M6  x  2  0   hex   bolts (AA) using M6   hex   wrench (DD).

AA
CC

AA

 and M6  x  3  5 hex   bolts (BB) using M6   hex   wrench (DD).

(CC) and M6  x  2  0   hex   bolts (AA) using M6   hex   wrench (DD).

(CC) and M6  x  2  0   hex   bolts (AA) using M6   hex   wrench (DD).
Attach the tank rack (D) to front access door (E) with M6   washers

Attach the tank rack (D) to side panel (F) with M6   washers (CC) 

AA

CC

BB

CCD

AA

CC

3
Attach the tank rack (D) to table legs (C1 and C2  ) with M6   washers 

E

CC

G



11

service center for replenishment or replacement with the part number provided.   

Structure of the Gas Firepit

NOTE: If any part is damaged during the one year limited warranty period,  please contact the Hampton Bay customer 

51 - Hex Cross Screw & Nut

52 - Orifice Connector & Orifice

53 - Ignition Needle

54 - Thermocouple

55 - Heat Insulation Board

57 - Fire Basin

58 - Burner Baffle

59 - Backup Plate for Burner

50 - Flex Line

5a - Safety  Valve

5b - Electric Igniter 

5c - Control Panel

 5d - Control Knob

5e - Regulator

56 - 10 in. Single Ring Burner Component



Location

Fig. 1

. 

Installation

Setting up

NOTE: 

 (Fig. 3)

1

2

3 Loading the propane tank

Fig. 2

O  pen the front access door. (Fig. 2  )

Fig. 3

Do not place this appliance on grass or dirt areas. 
This may prevent proper safety venting. 

Use the rotation knob (#1) to position the tank in the tank rack. 



13

Installation (continued)

Connecting the gas

Fig.     

P
U
S
H

NOTE: 

 
4

5

Loading the battery

IMPORTANT:

Fig.

Fig.

Fig. 7

H

Please follow the above instructions 
to replace the battery when needed. 

If the knob (#5) is not properly threaded to the 
outlet of the cylinder, gas leakage can occur. 

U  nscrew the battery box   and insert the negative electrode side
of the battery into the bottom of the battery box  .

O  ver the battery with the plastic cover. (Fig.4  )

Connect the pressure regulator (#  4  ) to the tank by rotating
the knob (#  5  ) clockwise until it is fully secured. (Fig.5  )

M   ake sure there is no leakage or damage

Please refer to the "  L  eak Check"   information and instructions 
on how to check for hose or burner damage on page 14  .  

Close the front access door. (Fig.6  ) 

R  emove the lid (B) and place rocks (H   ) into the fire bowl, making sure  

to keep the igniter block (#  6  ) open. (Fig.7  ) 

jennifer.durham
Inserted Text
instructions on 



14

 Fig. 10

WARNING:
Do not operate if there is a kink in the flexible gas hose, as this could lead to a gas leak.

LIGHTING
1. Make sure control knob (#2) is on the “OFF” position on the control panel.
2. Open access doors. Turn on gas cylinder valve (#7) to fully opened position.
3.
4.

5. Adjust flame to desired level with the control knob (#2).

WARNING:
Lighting the appliance improperly could lead to unsafe conditions.

Operation

Push and turn the knob (#2) to “HIGH”.
Hold ignitor (#3) to light the burner.  Release the control knob (#2) after 45 seconds. 
If there is no fire turn the control knob (#2) to “OFF”, wait 5 minutes, and repeat from step 3 on.

P
U
S
H

LEAK CHECK

WARNING

Do not use an open flame to check for leaks.  
Do not smoke during testing. 
Do not test indoors. 
A leak check must be performed whenever the gas cylinder is replaced. 

NOTE

Make sure the gas control knob (#2 ) is on the “OFF” position. Open access doors.
Make sure the gas cylinder is correctly and securely connected to the pressure regulator,     with a tight fit.
Turn on the gas cylinder valve (#7). Apply 50% soap and 50% water solution to the gas hose
at connections between the knob (#5) and the gas cylinder.
If there is a leak, you will see bubbles form. In the case of a leak, turn off the gas connections.
Reconnect the gas hose and retest. If the leak persists, consult the customer service center      for assistance.
If the connection is sound, continue to the next step.

P
U
S
H

#2
#5

#7

#3
#2

 Fig.  9  

 (Fig.  8 )
(Fig. 9 )

 (Fig.10) 

 (Fig.10) 

2.
3.

1.

4.

5.

 Fig.  8 



HOW TO DISCONNECT THE CYLINDER

SHUTTING DOWN THE GAS APPLIANCE

OFF

WARNING:

20  lb QCC OPD Barbecue Tank
Diameter: 12.125 in. / 308 mm 
Height: 17.625 in. / 447.8 mm
TW (Tare Weight): 16.6 lbs 
WC ( Water Capacity): 47.6 lbs 

12.125 in.
308 mm

17
.6

25
in

.
44

7.
8

m
m

Operation (continued)

 You can use soapy water to check if there is gas leakage at the outlet. (Fig.11)

Turn the gas cylinder valve (#7) off when the gas appliance is not in use. 

Do not try to cool glass beads with cold water right after shutting down the gas appliance or they will crack. 

Gas Cylinder Requirement

have a listed overfilling prevention device; and have a cylinder connection device  
 compatible with the connection for the appliance. NOTE: 

Cylinder is not included in this unit. 



16

To enjoy outstanding performance of your appliance for years, make sure to perform      the following maintenance activities on a regular basis. 

Keep exterior surfaces clean.

Use warm soapy water for cleaning. Never use flammable, corrosive or abrasive cleaners.

Clean the holes in the burner using a swab that is moistened with soapy water.

     Keep the burner holes unobstructed by using a heavy-duty pipe cleaner. The burner must be dry before

normal use. Clean annually. Compressed air may help clear away smaller particles.

While washing your unit, be sure to keep the area around the burner and pilot assembly dry at all times.

If the gas control knob (#2) is exposed to water in any way, DO NOT try to use it. It must be replaced.

After extended non-operation, the unit should be inspected for spiders, spider webs and insects. Spiders and insects can nest in burner or orifices.

Air flows must be unobstructed. Keep controls, burner and circulating air passageways clean.

Cleaning  Clearing

Problem Observed Possible Cause

There is a gas odor.

Corrective Measures

There is a gas leak. Perform "Leak Check" on page 14.  
If odor continues shut off gas supply 
and contact your customer service 

department.

The ignition is delayed.

The burner ports are clogged or dirty.

The orifice is blocked . 

Low or no gas supply or pressure . 

insufficient. 
The burner flame is low or

Blocked orifice.
Clogged or dirty burner ports.

Troubleshooting 

The battery is dead .

The gas pressure is low.

The orifice is blocked . 
The burner ports are clogged or dirty .

Signs of possible blockage include:

Gas odor with extreme yellow tipping of flame.

Gas flow is uneven.

Burner makes popping noises.

The gas pressure is low. Check gas supply pressure.
Clean burner ports with a wire brush. 
Clear orifice opening of any debris.
Replace with a new battery   . .

and

jennifer.durham
Cross-Out
delete space before the period

jennifer.durham
Cross-Out
delete space before the period



 

Limited Warranty

Storage and M   aintenance

WWW.HAMPTONBAY.COM

1-855-HD-HAMPTON

 Dated proof of purchase is required at the time that the warranty claim is submitted.
This warranty covers all parts found defective in workmanship and/or materials during the warranty period. The manufacturer may repair  
   the product or send replacement parts to its discretion at no cost to the original purchaser.  

This warranty will also be void by improperly treated, neglected, rusted by exposure to the elements, misused and/or if any repairs, 
maintenance or service has been done by an unauthorized person.

Returns must be properly packaged and returned with freight prepaid to the dealer/retailer from which the product was purchased.

Before disconnecting and removing the gas cylinder after use, allow 45 minutes for the appliance to cool down .



GUÍA DE USO Y MANTENIMIENTO

GRACIAS

         Item # 1004 295 984
1004 148 497

Modelo # GT-7108-SSS

1-855-HD-HAMPTON

WWW.HAMPTONBAY.COM

¿Pregunts, problemas, partes faltantes? Antes de regresar a la tienda 
Llame a Servicios al Cliente de Hampton Bay Service

8.00 a.m. - 7.00 p.m. EST, Lunes a Viernes
 9.00 a.m. - 6.00 p.m. EST, Sábados

Mesa con Fogón Fordham

ATENCIÓN:
"Su instalación, ajuste, alteración, servicio o mantenimiento inadecuado podría causar lesiones o 
daños materiales.  Lea detenidamente las instrucciones de instalación, operación y mantenimiento 
antes de la instalación o mantenimiento de este equipo."

"Agradecemos la confianza que ha depositado en Hampton Bay con la compra de esta mesa con fogón. Nos 
esforzamos por crear continuamente productos de calidad diseñados para mejorar la calidad de su hogar.
Visítenos en línea para ver la completa gama de productos disponibles para cubrir las necesidades de su hogar. 

¡Gracias por elegir a Hampton Bay!



Tabla de Contenidos 

2

Tabla de Contenidos  .........................................................................................................................2
Importantes Instrucciones de Seguridad ........................................................................................... 3
Especificaciones .................................................................................................................................4
ADVERTENCIA de Seguridad ............................................................................................................5
Pre-Ensamblaje ..................................................................................................................................7
Ensambalje .........................................................................................................................................9
Estructura del Fogón a Gas...............................................................................................................11
Instalación........................................................................................................................................12

Ubicación................................................................................................................................12
Montaje ..................................................................................................................................12
Cargando el tanque de gas propano......................................................................................12
Cargando la batería................................................................................................................13
Conexión de Gas ...................................................................................................................13

Funcionamiento ..............................................................................................................................14
Verificación de Fugas ............................................................................................................14
Iluminación .............................................................................................................................14
Apagando Su Artefacto de Gas..............................................................................................15
Cómo Desconectar el Cilindro ...............................................................................................15

Requerimientos del Cilindro de Gas .................................................................................................15
Solución de Problemas......................................................................................................................16
Limpieza y Vaciado............................................................................................................................16
Almacenamiento y Mantenimiento.....................................................................................................17
Garantía Limitada .............................................................................................................................17



Importantes Instrucciones de Seguridad
GUARDE ESTAS INSTRUCCIONES

1. Es necesaria una ADVERTENCIAsa supervisión cuando este mobiliario sea usado por o cerca de niños, o 
personas discapacitadas, si es aplicable.

2. Utilice este mobiliaro sólo para el propósito que ha sido creado el cual se describe en estas instrucciones. 
No utilice accesorios que no sean los aprobados por el fabricante.

PELIGRO:

Su instalación, ajuste, alteración, servicio o mantenimiento inadecuado podría causar lesiones o daños 
materiales. Lea detenidamente las instrucciones de instalación, operación y mantenimiento antes de la 
instalación o mantenimiento.
 

No almacene o use gasolina o cualquier otro líquido inflamables o vapores cerca de otros artefactos. 
No se debe almacenar un cilindro LP cerca de cualquier otro artefacto.

Este artefacto cumple con la ANS Z21.97-2014 sobre aparato decorativo de exterior 

LEA COMPLETAMENTE LAS INSTRUCCIONES ANTES DE SU USO
Para reducir los riesgos de lesiones en personas:

ADVERTENCIA:LOS FLUIDOS UTILIZADOS EN LOS APARATOS DE GAS PROPANO LICUADO, Y LOS PRODUCTOS 
DE LA COMBUSTIÓN DE DICHOS COMBUSTIBLES, PUEDEN EXPONERLO A SUSTANCIAS QUÍMICAS, INCLUIDO EL 
BENCENO, DEL QUE EL ESTADO DE CALIFORNIA SABE QUE CAUSA CÁNCER Y DEFECTOS CONGÉNITOS U 
OTROS DAÑOS REPRODUCTIVOS Para más información visite:www.P65Warnings.ca.gov

ADVERTENCIA: Sólo para uso en exteriores.
 

ADVERTENCIA:

ADVERTENCIA:

3

ADVERTENCIA:  No conecte a un suministro de gas remoto.
Las superficies del fogón pueden permanecer calientes por algún tiempo luego de su uso. 
Permita que pasen 45 minutos para que este se enfríe antes de intentar moverlo o tocarlo.

POR SU SEGURIDAD:

En caso de sentir olor a gas:
 1. Cierre el paso de gas hacia el aparato. 
2. Apague cualquier llama que se presente.
3. Si sigue percibiendo olor a gas, aléjese del artefacto y llame a su proveedor de gas o al 

departamento de bomberos inmediatamente

PELIGRO:  RIESGOS DEL MONÓXIDO DE CARBONO
Este artefacto puede producir monóxido de carbono, el cual no produce aroma alguno.
Utilizarlo en un lugar cerrado puede producir la muerte.
Jamás utilice este artefacto en un lugar cerrado tal como dentro de una tienda, carro, o en la 
casa.



Nombre del Producto Mesa con Fogón Fordham

Modelo No. GT-7108-SSS

Potencial de Calor 45,000 BTU

Combustible Gas Propano

Suministro de Gas ilindro de gas LP de 20-lb

Presión del Manómetro     11 pulg. Columna de Agua

Tamaño de Orificio
         

 1.93 mm

Presión de Gas
 

 250 PSI (max)

Especificaciones

Dimensión (LxWxH)     

Peso (w/o tanque)

1170 mm x 710 mm x 660 mm

Peso Total: 35.1 kg Peso: 47.4 kg

4



5

ALERTA

ALERTA

"Cuando el aparato está conectado a un sistema de gas fijo, la instalación debe cumplir con los códigos 
locales o, en caso de no existir los mismos, con el Código Nacional de Gas Combustible, ANSZ223.1/
NFPA54; Código Internacional de Gas Combustible, Código de Instalación de Gas Natural y Propano, 
CSAB149.1; o Código de Almacenamiento y Manejo de Gas Propano,
B149.2, según corresponda."

El cilindro de suministro de gas LP deberá:
1. Ser construido y marcado de acuerdo con las especificaciones del Departamento de 

Transporte de los Estados Unidos (D.O.T.) para cilindros de gas LP, o la Norma para Cilindros, 
Esferas y Tubos o la Norma para el Transporte de Mercancías Peligrosas y Comisión, CAN/
CSA-B339, según el caso.

2. Estar provisto de un dispositivo de prevención de sobrellenado.
3. Estar provisto de un dispositivo de conexión de cilindros compatible con la conexión del 

artefacto.

Coloque siempre el artefacto en un lugar seguro y a nivel.
No se deberán quemar combustibles sólidos en este artefacto de gas.
El artefacto debe ser usado solamente al aire libre en un lugar ventilado y no debe ser usado en edificios, 
garajes o cualquier otro lugar cerrado.
Cuando se use, mantenga el área del artefacto despejada con al menos 48 pulg. (121,9 cm) de los lados y 
72 pulg. (182.9 cm) arriba lejos de los inflamables, gasolina y otros líquidos inflamables y vapores.
No utilice el aparato debajo de superficies inflamables. Ciertos artículos o materiales, al almacenarce 
debajo del artefacto o cerca del mismo, estarán expuestos al calor radiante y podrían dañarse. Inspeccione 
el sistema de manguera y quemador antes de cada uso. En caso de evasión de abrasión o desgaste 
excesivo, o si la manguera o el quemador están dañados, deben ser sustituidos por la pieza que proceda 
del fabricante. Inspeccione las conexiones de gas del aparato antes de cada uso. No opere la unidad si hay 
una fuga de gas. Solicite a un técnico cualificado que inspeccione el artefacto anualmente.
Se debe utilizar el regulador de presión y el juego de mangueras que se suministran con el 
artefacto. La pieza de repuesto debe ser la misma que la especificada por el fabricante. Para fijar 
el cilindro de gas LP, consulte la sección "Conexión de Gas" en la página 13 y realice el control 
de fugas descrito en la página 14.

ADVERTENCIA de Seguridad

ALERTA



ADVERTENCIA de Seguridad (continuación)

6

ALERTA

ALERTA

Tanto niños como adultos deben ser alertados sobre las altas temperaturas que experimenta la 
superficie, y deben mantenerse alejados para evitar que sus ropas puedan incendiarse.

Los niños deben estar bajo supervision cuando se encuentren cerca del artefacto.

No deben colgarse ni colocar cerca del artefacto ropas u otros materiales inflamables.
Antes de encender el artefacto, deberá sustituirse cualquier dispositivo de seguridad 
protección que le haya sido retirado para su mantenimiento.

La instalación y reparación debe ser realizada por personal cualificado. El artefacto debe ser 
inspeccionado por personal cualificado. El artefacto debe ser inspeccionado antes de su uso y al menos 
una vez al año por una persona calificada para ello. Una limpieza a fondo podría ser necesaria. Es 
imperativo que el compartimiento de control, los quemadores y los conductos de aire circulante del 
artefacto se mantengan limpios.

No utilice el artefacto si alguna pieza ha estado bajo el agua. Llame inmediatamente a un ténico 
calificado para que inspeccione el artefacto y reemplace cualquier parte del sistema de control y 
del sistema de gas que haya estado bajo agua.
El cilindro de gas LP que vaya a utilizarse deberá estar construido y etiquetado de acuerdo con 
las especificaciones del Departamento de Transporte de los Estados Unidos (DOT). Vea la 
página 15.
El sistema del cilindro debe estar preparado para el escape de vapor y el cilindro poseer una 
válvula.
Sólo utilice cilindros de gas LP de 20 lb (9 kg).
No queme madera ni ningún otro material en este artefacto.

El quemador debe ser sustituido antes de encender el artefacto en caso de detectarse que alguno está 
dañado. El quemador de repuesto deberá ser idéntico al especificado por el fabricante.

Para limpiar el artefacto, incluyendo el quemador, consulte la sección de “Limpieza y Vaciado” en la pág 
16.

No intente enfriar las esferas de vidrio con agua justo después de apagar el artefacto o estas romperán.

No utilice el artefacto a gas si hay viento y/o lluvia fuerte.



Pre-Ensamblaje

MATERIAL INCLUIDO

NOTA: El material no se muestra en tamañop real.
 

AA BB CC

DD

7

PLANIFICACIÓN DE ENSAMBLAJE
El proceso tomará cerca de 30minutos para ser completado si se 
realiza entre 2 personas.

HERRAMIENTAS NECESARIAS
AAA

Batería AAA (1pieza)

Parte Descripción Cantidad

AA

BB

CC

DD

18

 2

20

 1

Tornillo (M6x20)

Llave Alen Hexagonal

Arandela (M6)

Tornillo (M6x35)

Atornillador Phillips
 



Pre-Ensamblaje (continuación)

8

CONTENIDO DEL EMPAQUE

Parte Descripción Cantidad

A

B

C1

C2

D

E

F

1

1

1

1

1

1

1

Hornilla a gas de sobremesa

Estante del tanque

Pata izquierda de la mesa

Panel lateral

Panel trasero

Puerta delantera
 

Pata iderecha de la mesa

G

Tapa

1

Piedras
 

3.5 kgH

B

A

E

F

D

G

C1

C2

H



Ensamblaje

 Fijación del Panel Trasero
  

9

2

IMPORTANTE: (Para pasos 1 al 4)
No apriete los tornillos completamente hasta terminar el paso 4.
 

 Fijación de Panel Lateral y de la Pata de la Mesa
 Coloque el tablero de la mesa (A) boca abajo sobre una superficie plana y lisa.

Fije el panel lateral (F) y las patas de la mesa (C1 y C2) al tablero con las arandelas M 6 (CC) y los tornillos M6 
x 20 (AA) con la ayuda de la llave hexagonal M 6 (DD).

AA

CC

F

C1

C2
A

Fije el panel trasero (G) al panel lateral (F) con las arandelas M6 (CC) y los tornillos M6 x 20 (AA) con la ayuda de la 
llave hexagonal M6 (DD).

AA

CC
G

1



Ensamblaje (continuación)
 Fijación del Estante del Tanque
 

10

4 Fijación de la Puerta Delantera

5
Ponga la mesa en posición vertical.
Coloque las piedras (H) en el envase. Coloque la 
tapadera (B).

 Posicionando la Mesa

B

Fije la puerta delantera (E) a la parte superior de la mesa 
(A) con arandelas M6 (CC) y tornillos M& x 20 (AA) 
utilizando la llave alen hexagonal M6 (DD).

Fije la puerta delantera (E) al panel trasero (G) con 
arandelas M6 (CC) y tornillos M6 x 20 (AA) usando la llave 
alen hexagonal M6 (DD).

AA
CC

AA

AA

CC

BB

CCD

AA

CC

3
Fije el estante del tanque (D) al panel lateral (F) con arandelas 
M6 (CC) y tornillos M6 x 20 (AA) utilizando la llave alen 
hexagonal M6 (DD)
Fije el estante del tanque (D) a las patas de la mesa (C1 y C2) 
con arandelas M6 (CC) y tornillos M6 (AA) utilizando la llave 
alen haxagonal (DD).
Fije el estante del tanque (D) a la puerta delantera (E) con 
arandelas M6 (CC) y tornillos M6 (AA) utilizando la llave alen 
hexagonal (DD).

E

CC

G



11

Estructura del Fogón a Gas

NOTA:   Si alguna pieza resulta dañada durante el período de la garantía limitada de un año, comuníquese con el Centro de        
               Servicio al Cliente de Hampton Bay para reponerla o reemplazarla con el número de pieza proporcionado.

51 - Tornillo y Tuerca en Cruz Hexagonal

52 - Orificio Conector y Orificio

53 - Aguja de Encendido

54 - Termopar

55 - Tablero de Aislamiento Térmico

57 - Hoguera

58 - Deflector del Quemador

59 - Placa Respaldo del Quemador

50 - Línea de Flexión

5a - Válvula de Seguridad

5b - Encendedor Eléctrico

 5c - Panel de Control

5d - Perilla de Control

5e - Regulador

56 - Aro Quemador Simple de 10 pulg



Ubicación

Fig. 1

Instalación

Montaje

 (Fig. 3)

1

2

3 Carga del tanque de propano

Fig. 2

Abra la puerta frontal. (Fig. 2)

Fig. 3

NOTA:
No coloque este artefacto sobre césped o áreas sucias.
Esto puede impedir una ventilación de seguridad adecuada.

Su artefacto a gas debe ser instalado en una superficie 
plana y estable, lejos de cualquier material o 
construcción combustible. La instalación será mucho 
más fácil con dos o más personas.
Distancia mínima respecto a construcciones 
combustibles: trasera y lateral 48 pulgadas / 1219 mm, 
superior 72 pulgadas / 1829 mm (fig. 1).

Su artefacto de gas viene ensamblado, listo para ser 
conectado al gas. Coloque el artefacto sobre una 
superficie nivelada e incombustible ubicada al aire 
libre.

Coloque el tanque en el soporte del tanque
Use la perilla de rotación (#1) para posicionar el 
tanque en el soporte del tanque.  (Fig. 3)



13

Instalación (continuación)

Conexión del gas

Fig.     

P
U
S
H

 
4

5

Carga de la batería

Fig.

Fig.

Fig. 7

H

NOTA:
Por favor, siga las instrucciones 
anteriores para reemplazar la batería 
cuando sea necesario.

IMPORTANTE:
Pueden producirse fugas de gas si la perilla (# 5) 
no se enrosca correctamente al
cilindro.
. 

Desatornille la caja de la batería e inserte el lado negativo 
del electrodo de la batería en la parte inferior de la caja de la 
batería .

Sobre la batería con la tapa de plástico. (Fig.4)

Conecte el regulador de presión (# 4) al tanque girando 
la perilla (# 5) en el sentido de las agujas del reloj hasta 
que esté completamente asegurado. (Fig.5)

Por favor, consulte la información e instrucciones sobre 
cómo comprobar si hay fugas en la manguera o en el 
quemador en la página 14.

Cierre la puerta frontal. (Fig.6)
Quite la tapadera (B) y coloque las piedras (H) en el recipiente 
contenedor del fuego, asegurándose de mantener abierto el 
bloque de encendido (# 6). (Fig.7)

Asegúrese de que no haya fugas ni daños



14

 Fig. 10

ADVERTENCIA
No opere el equipo si la manguera flexible de gas está torcida o golpeada, ya que 
esto podría provocar una fuga de gas.

ENCENDIDO
1. Asegúrese de que la perilla de control (#2) esté en la posición "OFF" (apagado) en el panel de control. (Figura 8)
2. Abra la puerta frontal. Encienda la válvula del cilindro de gas (#7) hasta la posición de completamente abierta (Fig. 9).
3.
4.

ADVERTENCIA:
Enceder el artefacto de forma inadecuada puede generar condiciones de inseguridad.

Funcionamiento

Presione y gire la perilla (#2) a "HIGH" (ALTO).

Si no se enciende, gire la perilla de control (#2) a "OFF", espere 5 minutos y repita desde el paso 3 en adelante.

P
U
S
H

Verificación de Fugas

ADVERTENCIA

No utilice llamas abiertas para comprobar si hay fugas.
No fume durante la prueba.
No realice la prueba en interiores.
Cada vez que se sustituya un cilindro de gas, se debe realizar una verificación de fugas.

NOTA

 Asegúrese de que la perilla de control de gas (#2) esté en la posición "OFF" (apagado). Abra la puerta frontal. 
Asegúrese de que el cilindro de gas esté correctamente conectado al regulador de presión y bien apretado.
Encienda la válvula del cilindro de gas (#7). Aplique 50% de jabón y 50% solución de agua a la manguera de gas 
en las conexiones y entre la perilla (# 5) y el cilindro de gas.
Si hubiera una fuga se formarán burbujas. En caso de fuga, cierre las conexiones de gas. Vuelva a conectar la 
manguera de gas y vuelva a realizar la prueba. Si la fuga persiste, consulte al centro de servicio al cliente para 
obtener ayuda.
Si la conexión es correcta, continúe con el siguiente paso.

P
U
S
H

#2
#5

#7

#3
#2

 Fig.  9  

Sostenga el encendedor (#3) para prender el quemador. Suelte la perilla de control (#2) después de 45 segundos (Fig. 10) 
  

5.Ajuste la llama al nivel deseado con la perilla de control (#2) (Fig. 10)

2.
3.

1.

4.

5.

 Fig.  8 

Normal Anormal



CÓMO DESCONECTAR EL CILINDRO

APAGANDO SU ARTEFACTO DE GAS

20 lb QCC OPD Tanque de Barbacoa
Diámetro: 12.125 in. / 308 mm
Altura: 17.625 in. / 447.8 mm
TW (Peso Tara): 16.6 lbs
WC ( Capacidad de Agua): 47.6 lbs

12.125 in.
308 mm

17
.6

25
in

.
44

7.
8

m
m

Funcionamiento (continuación)

2. Cierre la válvula del cilindro de gas (# 7) cuando el aparato de gas no esté en uso.

ADVERTENCIA:
No intente enfriar las esferas de vidrio con agua fría inmediatamente después de apagar el 
aparato de gas, pues de lo contrario se romperán.
No permita que los niños jueguen con las esferas de vidrio.

Requerimientos del Cilindro de Gas

NOTA:
No se incluye el cilindro con esta unidad.

1. Gire la perilla de control de gas (#2) a "OFF" para apagar el artefacto.

1. Asegúrese de que la válvula del cilindro de gas (#7) esté completamente apretada.
2. Gire la perilla (# 5) en sentido contrario a las agujas del reloj para separar el regulador de presión (# 4) del cilindro.
3. Puede utilizar agua jabonosa para comprobar si existen fugas de gas en la salida. (Fig.11)

Se acepta el uso de otros cilindros con el artefacto 
siempre y cuando sean compatibles con los medios de 
retención del mismo; tengan un dispositivo de 
prevención de sobrellenado listado; y cuenten con un 
dispositivo de conexión de cilindros compatible con la 
conexión del artefacto.



16

Para disfrutar del rendimiento excepcional de su artefacto durante años, asegúrese de realizar las siguientes actividades de 
mantenimiento de forma regular.

Mantenga limpias las superficies exteriores.

    Utilice agua tibia jabonosa para la limpieza. Nunca utilice limpiadores inflamables, corrosivos o abrasivos.

Limpie los orificios del quemador con un hisopo humedecido con agua jabonosa.

     Mantenga los orificios del quemador libres de obstrucciones utilizando un limpiador de tuberías de alta resistencia. El quemador 

debe estar seco antes de su uso normal. Limpie anualmente. El aire comprimido puede ayudar a eliminar las partículas más pequeñas.

Mientras limpia su artefacto, asegúrese de mantener seca el área alrededor del quemador y el ensamblaje piloto en todo momento.

    Si la perilla de control de gas (# 2) es expuesto al agua de cualquier manera, NO intente usarla. Debe ser reemplazada.

Después de un período prolongado de inactividad, se debe inspeccionar el artefacto en busca de arañas, telarañas e insectos. Las 

arañas y los insectos pueden anidar en el quemador o en los orificios.

Los flujos de aire deben estar libres de obstrucciones. Mantenga limpios los controles, el quemador y los conductos de aire 

circulante.

Limpieza y Vaciado

Problema Observado Posible Causa

Hay olor a gas.

Medidas a Tomar

Hay una fuga de gas. Realice una "" Verificación de fugas "" como se 
indica en la página 14.
Si el olor continúa, cierre el suministro de gas y 
póngase en contacto con su servicio de 
atención al cliente.

El encendido está 
retrasado.

La llama del quemador 
es baja o insuficiente

Bajo o nulo suministro de gas o presión.
Orificio bloqueado.
Puertos de quemadores obstruidos o 
sucios.

Solución de Problemas

El orificio está bloqueado
 La batería está agotada

La presión del gas es baja.
El orificio está bloqueado.
Los puertos del quemador están obstruidos o sucios.

Señales de una posible obstrucción:

Olor a gas con un color amarillo intenso en la punta de la llama.

 El flujo de gas es desigual.

El quemador hace ruidos de estallido.

La presión del gas es baja.

Los puertos del quemador están 
Compruebe la presión del suministro de gas.
Limpie los puertos del quemador con un cepillo de alambre.

Limpie la abertura del orificio de cualquier suciedad.
Sustituya la batería por una nueva.

jennifer.durham
Cross-Out
delete space before the period



Garantía Limitada

Almacenamiento y Mantenimiento

WWW.HAMPTONBAY.COM

1-855-HD-HAMPTON

Antes de desconectar y retirar el cilindro de gas después de su uso, espere 45 minutos mientras el artefacto se enfría.

Para obtener el mejor rendimiento de su artefacto, usted debe realizar las siguientes actividades de almacenamiento y 
mantenimiento de forma regular:

Desconecte el cilindro de gas del artefacto.
Almacene el cilindro de gas en un lugar seco, bien ventilado y protegido de las inclemencias del tiempo y del polvo, fuera del 
alcance de los niños. No lo almacene dentro de una edificación, garaje o cualquier otra área cerrada.
El artefacto puede almacenarse en interiores sólo si el cilindro está desconectado y es retirado del mismo.
Mantenga el área donde se encuentra el artefacto despejada y libre de materiales combustibles, gasolina y otros vapores y 
líquidos inflamables.
El artefacto debe ser inspeccionado antes de su uso y al menos una vez al año. De ser necesario, realizar la limpieza con más 
frecuencia. Es imprescindible que el compartimento de control, el quemador y los conductos de aire circulante del aparato se 
mantengan limpios.

De conformidad con las condiciones establecidas a continuación, se garantiza al comprador originario que este producto 
se encuentra libre de defectos de fabricación y en los materiales por un lapso de dos (2) años para el armazón y de un (1) 
año para la cámara de combustión, tiempo contado a partir de la fecha de compra.

 El comprobante de compra fechado será necesario para cualquier reclamo de garantía.
Esta garantía cubre todas las piezas que presenten defectos de fabricación y/o en los materiales durante el período de duración de 
la misma. El fabricante puede reparar el producto o enviar las piezas de repuesto a su discreción sin costo alguno para el 
comprador originario.
Esta garantía quedará anulada en caso de que el producto no haya sido armado, instalado u operado de acuerdo con las 
instrucciones, o en caso de ser objeto de abuso.
Esta garantía también quedará anulada si el artefacto es tratado inadecuadamente, descuidado, oxidado por mantenerse a la interperie, 
mal utilizado y/o si alguna reparación, mantenimiento o servicio ha sido realizada por una persona no autorizada.
Las devoluciones deben embalarse debidamente y devolverse con el flete prepagado al distribuidor/minorista al cual se le haya comprado 
el artefacto.
El fabricante, distribuidor o minorista no será responsable de ninguna pérdida o daño incidental o consecuente que surja de la instalación u 
operación del producto y/o de la falla de alguna parte o por alguna razón.
No existen otras garantías expresas o implícitas, excepto las estipuladas.
Esta garantía otorga derechos específicos al comprador originario. El comprador originario pudiera gozar de derechos y recursos 
adicionales según la ley estatal. Esta garantía no cubre el uso comercial.

Número de Serial:

¿Preguntas, problemas, partes faltantes? 
Antes de regresar a la tienda llame a 

Servicios al Cliente de Hampton Bay Service

8.00 a.m. - 7.00 p.m. EST, Lunes a Viernes
9.00 a.m. - 6.00 p.m. EST, Sábados


	GT-7108-SSS Fordham Firepit Table - Updated
	5-HDCA 2019 AI 198-MM19-197-5BAL  as of 9-10-2018 V3 TBL

	GT-7108-SSS Fordham Firepit IM - Spanish - udpated
	5-HDCA 2019 AI 198-MM19-197-5BAL  as of 9-10-2018 V3 TBL




